(A - S5 IR A IRERER

[7E © 2022/5/1

. St ey &ast
ER# — — — —
N Fir | BER | AE Fin | BER | AE Filn | BiER
8 121 41.6 10.0 44 42.9 5.2 165 41.9 8.7
AR 69.7 6.0 0 0 69.7 6.0
TILA bk 0 0 0 3 41.3 0.7 3 41.3 0.7
=7 65.3 41 0 0 65.3 41
ait/¥g 127 42.8 10.6 47 42.8 4.9 174 42.8 9.0
Bt ey a5t
&ef — — —
N Ji N Ji A kb=
A 3.31% 3 1.66% 9 4.97%
IR 4.97% 5 2.76% 14 7.73%
ERAS 2.76% 0 0.00% 5 2.76%
ai 20 11.05% 8 4.42% 28 15.47%
XEEtA# 181(E 2 %ED)
PR ERCEBIMRDBLI(C. ZXTEK BENOENFFELLS !
A ATNGDR%ZERL. BRTIHZVEBEENEDDLICLELLS !
FRE B RRIBRE
- . ;;fé‘;ﬁ BIRNBRE S o o
B DT |DE| KR (HF|HE| BER |97 |HE| HUSE
20174 FER%29 5:50/625:32 |1713|2210| 77.5% of 1 0% 2 2] 100%
20184 ER%30 5:30/661:17 |1787|2169| 82.4% 0 2 0% 2 2| 100%
2019% FR%31/5%001 (4:44/632:29 | 199%6.5/2363| 84.5% 1 2| 50% 2 2| 100%
20204 7002 3:21/485:27 |2103|2473| 85.0% 1| 4| 25% 2 2] 100%
20214 $SF103 3:21/485:27 |2153|2439| 88.3% 0 0 0% 3 3] 100%
104
4 0:28/73: 15 |3155[2818| 11.2% 0 0 0% 3 3] 100%
5A 1:36/281:41 | 3192818 11.3% 0 0 0% 2 2| 100%
6H
7H
8H
2022¢ 9A
104
118
12H
18
2H

3R




BESEROERIRR CKFRE)

%1 @ 3FERBIZENSS0RMU LERECEE
X2 FEENSS0RMU LERECEE

%3 . EERE-FREEEC

[iia)=

iz

i
HF

op
ain
—+

20184

%30

=]

3ERBIARE

35mRiiE

35ml E

50/ L

PIVIA MPBIEFEE X 1

SHEFEIEFLEX 2

ast

|l - PR S EF P

BitE - BUBSE L

Gat%3

20194

Trk31/
SF001

AA

3ERBIARE

35mRiE

35ml E

50/ L

PIVA MPBIEFEE X 1

SHEFEIEHLE X 2

&t

| AR - PARL S EF P

BitHE - BUBSE L

EHEE

20204

w02

>N

3FERBIRE

35mERiiE

35mALE

50 E

PIV\ASIEHE X 1

SHEFEIEHLE X 2

= = N = = N N D N
NOC\\OOOHo\mmmN_hU'I\DOOG\O\O\ONO-PU'IU.IG\ON

&t

| AR - PAR S EF P

BitiE - BUBSE L

EHEE

20214

w03

o L = = w = N =N =
ABIEuERoNN o oo SN Ul G B SH | v | o|ull| S o1 | N o & |n| | w|o| v

3N

K ]

35mERii

35mALE

50 E

PV SIEHE X 1

SHEFEIEHLE X 2

At

| AR - PR S EF P

BitiE - BUBSE L

G5%3

20224

TH04

3N

3FERBIRE

35K

35mAE

50 E

PIVI\ASIEHE X 1

HSHEFEIEALS % 2

&5t

|l P 32 P

i - U3 E

HOHNOOOHOOHOOOOOHl—ﬂl—ﬂNw-bOHHwHHHOA\IAOHAI—*NHONAANOHO\OO\HOOOHWOOE
N w|YW ollw w wul N s

G5rX%3

= N ol —llw
ul|Nv|W| 5| o|o|wnv|o|w| R |G| R vt = o N




ABH#HBR

B8R 1 BERAR

GIE=ll)
X531 X432 48| 58| 6A| 7A| 88| 9A[10811A|128| 18| 28| 38
REF 5/ 5
RIER 8
EEEIER
PagsED 16| 17
INCE 20| 20
=ES 21| 23
1liED 106| 107
20t e
&t 178| 181
(HEXDH]
X531 X532 48| 58| 68| 7A| 8A| 9A|108 118|128 | 1A| 28| 38
=8 5/ 5
F#8& SI7ED 166 169
AR 3
PN 2| 2
g 2 2
&t 178|181
(524z51]
X531 X532 4H| 5H| 6R| 7R| 8A| 94 |10H (118 (12R| 14| 2H| 3H
B 131133
ot 47| 48
&t 178|181
€t%:0)
X531 X532 48| 58| 68| 7A| 8A| 9A|108 114|128 | 1A| 2A| 38
&8 5| 5
B 2l 2
BEIEE 2l 2
RE 9] 9
R 9] 9
iR 12| 12
— 132135
AR 3] 3
iz 2
g 2
&t 178| 181




